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y=3x? x=0
4.2
f7(%)
lim f (X, —AX)— F(X,)
Ax—0 AX
X—>Xg X—X0
lim f(x, +h)—f(x,—h)
h—0 h
y=2x2+3x-1
(-1-2)
(-2,1)
(a,b)
f(x) (—o0,+o) x=0
f(L+sinx)—3f(L—sinx) =8x+ a(x)
a(X) Xx—0 X y=1f(x) @ fQ)
425
Xy = a2 2a?
y =|sinx| y = +/1—cos X
y = e y =|In(x+1)]|.
x=0

CIx[*esint (a>0) x=0, BRS X >0,
= 0, X=0; Y=) ax+b, x<o0:
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xex, x>0,
y:

ax?, x<O0;

f(x) x=0
f(x) [ab] f(a)=f(b)=0
f(x) (a,b)
Jim, 100 =

lim f'(x)=oo

x—a+0

f(x) f(0)=0 f(x)

9(x) F(x) = xg(x)

(cosx)' =—sinx

(csc x)' = —cot xcsc x

(arccosx)’ = —
1-x°

(ch™x)" =
f(x):33inx+lnx—\/;
f(x) = (x* +7x—=5)sinx

: 3
f(x):eXS|nx—4cosx+T
X

1
f(x)=
(x) X +COS X

y = ex , X=#0,
0, X =0.
x=0
f/(a)- f/(b) >0 f(x) (ab)
lim f'(x)=o
lim f(x)=o
Xx=0
f'(0) = 9(0)
(cotx)’ = —csc? x
(arccotx)' =— 5
+ X
-1 r -1 r=
(th™ x)" = (cth™ x) T

f(Xx)=Xxcosx+x?+3

f(x) = x*(3tan x + 2secx)

2sin X + X — 2%
f(X)=—————
W= e

xsinx —2Inx
f(X)=—F——

Jx +1
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f(x)=

f(x)

f(x) = (e*+ log; x)arcsin x

f(x):x+secx f(X):X+SII'1X
XTosex arctan X
y=Inx (e1l)
a y:X yzlogax
y =X" neN” (1,1) X

limy(x,)

y=ax?+bx+c

K cotx X Sin X + COS X
In x X Sin X — COS X

f(x) =(cscx —3Inx)x2sh x

S ={x; ¥l (xy) ¥

S, ={(x,y)l (xy) }

S;={(x. ) (x,y) }

f(x) x=x, g(x) x=x, , c,f(x)+c,g(x) x=X,
f(x) a(x) x=x : ¢ f(X)+C9(x) X=X,

f(x)g(x) x=x,
f,(x) i,j=12,-,n
£, fo(x) - f.(X) fn:(x) flz:(X)
% f21:(x) fzzz(x) fznz(x):i

fir (%) fk'z.(x)
fa() f(x) - f,.(X) . :

k=1

fnl(x) fnz(X)
4.4

F1n (%)

fin (X)

fnn (X)



y=(2x" —x+1)?

1
RN
y =sin x3

y=+Xx+1-In(x++x+1)

y = In(x2 —Xizj

1+In2x

y= XA/1— X2

2 .3
V=32 1 3 i1

y =Xx+va?—x? +

y =Insinx

y =%(x\/a2 —x? +a?arcsin>

y:%(x\/x2 —az -a?In(x++x2-a?).

f(x)
f&/x?)

JT)
f(f(e?))

f[LJ
f(x)

a2_X2 '

)

y = e2¥sin 3x
-V x
y = cos/x
y = arcsin (e~**)
1
y = 2 1 2
(2x2 +sin x)
. X
Y= s esex?
y= g-sin?x

y = In(csc x — cot x)

y=In(x++/x?+a?)

f[LJ
In x
arctan f(x)

sin (f (sin x))

1
FCF(x)




dy
dx

y =X+arctany

JX—C0Sy =siny—Xx

e’y —xy2=0

2ysinx+xlny=20

xy+Ilny=1

M (L1)

dx

y = (x® +sin x)%

y =1In*x(2x +1)

y=1jl(x—xi)

y+xey=1
xy—In(y+1) =0
tan(x+y)—xy =0

x3+y3-3axy =0.
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11.

12

13

{x:e‘2t cos’t, {x:ln(1+t2),

y=e'sin’t; y =t —arctant.

2t +t2 2t —t?
:—3 y: 3 :l
1+t 1+t
e* =3t +2t+1
dy
) s y X t —=
tsmy—y+5:0. dX|;_o

X =a(cost +tsint),
y = a(sint —tcost).

a

u=g(x) X=X, y="f(u) u=u,=09g(xp)

y=f(g(x)) x=x,

u=g(x) X, y="f() u
u=g(x) X, y="f() u
u=g(x) X, y="f() u
f(u) g(u) h() h(u)>1 u=o(x)
(W) T
h(u)e l0g ) 9(U)
arctan{m} > L > .
h(u) JF2(u)+h2(u)

4.5



y=X3+2xX2-Xx+1], y"
X2
N y

y:Sin X3 yrr ym

y — X2 e3X y’”

y = x®c0os2x y (&)
n y(n)
y = sin? X
V=X
y = e%X cos X
x?,
f(x) = {_xz
4 f(x)
[f(x2)]"
[f(nx)]”
[f(e)]"
5 Leibniz y(M(0)
y =arctan x y'(1+x?)=1
y = arcsin x Xy’ =(1-x2)y”
d2y

dx?

y=x*Inx y"
In x Y
= X2 y
y = X3 COS /X

y = e arcsin x

y = (2x%2 +1)sh x

y =2*Inx
B 1
Y =X _5x+6

y =sin* X + cos* X.

x>0,

x<0

G
X
[In £ (x)]”

[f (arctan x)]".

y " y "
y "

y(99).
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ety —x2y =0;
2ysinx+xIny=0;

d2y
dx?

X =at?,
y = bt?,
{x:t(l—sint),

y =tcost,

X=4+1+t,
y=+1-t,

In x
:T d y
d?(ex)
X
f(u) g(u) g(u)>0

u = tan x d2f

tan(x+y)—-xy=0;

x3 +y3—3axy =0.

X = atcost,
y = atsint,

X=aet,
y =bet,

X =sinat,
y = cosht.

d3X _ 3(yu)2 _ y/ym

dy? (y')®

yzx4e—X d4y

Sec X
= d2
Y=g y
y=x*  d2y

y = X" COS 2X dry.

x=p(t)



u=+v v=Inx dzg

d?[f(u)g(u)] d?[In g(u)]

o 1]
g(u)

12.




